CAM ADAPTER
3/4" HEX NUT——__ \

>

= ANTFROTATION
PLATE

CLE3041203PNY

Mt
retention
SCrew

Irstallcion ot
Screws =

————
——

Figure 3: Anti-Eotation plate
installed with nut retaining
SCrewy.

Kenstan Lock Company

FROPRIETARY AMD COMFIDEMTIAL
THE IMF &R WAT I WS ORTAIMED: M THE D REAWEE G B THE S OLE PROPERTY O F KEMSTAN LOCR O ANY

REPR CCUCTICM 1M PART OR AF & WWHOLE Wl HOUT THE Wt MTEM PERMES 1M O F KEWSTAM LOCK SO0 B PROHIBTED.

9 4

#6 WOOD SCTREWS

Figure 4: small 3-fab waosher

LT ER LSL

FIME H

S

CAM HEX NUT
SMALL3-TAB

CAM 406
-#6 WOOD SCREW

DO HOT 3CALE DREAMIIMG

1. Insert the Cam Lock through the wood and
slide the anti-rotation palte over the cam lock
from the back side.

2. Line up the keyway on the face of the lock and
irstall the 3/4" Hex Nut.

3. Secure the anti-rotation plate at the 2 comer
irstallation holes with a #6 wood screw. Irstall o
minimum of one additfional #4 screw in one of the
Nt retention locatiors. The screw head will sit
almaost flush with the flat of the 3/4" hex nut to
prevent it from backing out.

4. Notel Rotalion Stop cam should already be
installed on the lock, if it sn't please do so now
testing wit a key for a 20* right hand rotation.
Irstcll the CAM adapter onto the threaded tail of
the cam lock.

5. Install the Cam maiching the offset direction
with the ongindl irstallation.

6. Slide Small 3-1ak washer over the cam lock
threadead tail.

/. Install com hex nut and fighten. Then fold
down the talks on the 3-tab washer (See Fg. 4).

2-Tab wosher
tabs bent down
over nut

TITLE:
CLEK3041203PNY W ([OOD)
M VE DATE

AUTHOAR | A, QX2 103

UM LESS OTHERWISE SFECIFED:
DIRAENS IDHS ARE IN IHC HES SIZE DWS. NO. REW
10 LER ANC E5:
LHN%CUTE;% —ny‘* BEND +0.01 A WF]I_%E](;%?]Sd A
TG PLACE DECIMAL  + 01
THREE PLACE DECIWaL + oz SCALE: 1:1 VE!lEI'ﬁJ o SHEET 5 OF 7

2 1



